=

= T
I||||II|III||IIII|I =l ar.coe 135

[ I I I I I I I ] glierrel Je-vF e HI IW-YEH &
Roll No. TE-8 W 3 ford |

Candidates must write the Q.P. Code
on the title page of the answer-book.

FERGTAT U AT o dd (Tivres)

ELEMENTS OF BOOK-KEEPING AND
ACCOUNTANCY (Commerce)

fagia aaa: 3 g2 H1GHTH HF : 70

Time allowed : 3 hours Maximum Marks : 70

o HUAT I L o Toh 38 T H Higd T3 23 % |

o TH-TH H fe BT 31 3R ST TTT o -7 <h1g w1 qlEnell S-Jfdent o JE-T% W fofd |

o FHUIT S HL A foh U Y- H 30 TH 3 |

o HUAT I T I oG T& 1 A T8, IT-GfRe1 o T 1 3hHTeh Hae ford |
o 3T VY- I UeH o T 15 fire o1 awe fean mn R | swe-vet o Tt qats 9 10.15

S T ST | 10.15 91 & 10.30 9 b Teeff shaet I3H-93 ohl Y 3R 39 Aafy
% SR o IT-GEAehT T 15 TR &I [oT@T | 7

e Please check that this question paper contains 23 printed pages.
e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate. N
/% e Please check that this question paper contains 30 questions.
% e Please write down the serial number of the question in the answer- [}
: book before attempting it.

| ® 15 minute time has been allotted to read this question paper. The \
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30

a.m., the candidates will read the question paper only and will not write =

any answer on the answer-book during this period.
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General Instructions :

135

()

This question paper contains 30 questions.

(it) Question 1 to 18 are of one mark each.

(i1t) Question 19 to 22 are of three marks each.

(tv) Question 23 to 26 are of four marks each.

)

Question 27 to 30 are of six marks each.

Which of the following is a Capital Receipt ?

(a)
(b)
(c)
(d)

Rent received

Sale of services

Loan received by the business
Salary received

OR

Which of the following is Revenue Expenditure ?

()
(b)
(©)
(d)

White wash expenses
Trade marks purchased
Expenses incurred to get the manager’s office air-conditioned

Goodwill purchased

Capital Receipts and Revenue Receipts

(a)
(b)
(c)
(d)

are different
are not different
may or may not be distinguished

must not be distinguished
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1 3T, 2021 1 Th W T 8,00,000 ¥ G T8 | YeIg™ i 10% i a1 @ &
et T fafer & qeusTe o T | 31 5, 2022 i Bl S qdeh qod R a7

(a) % 7,60,000 (b) ¥7,20,000

(¢) < 17,00,000 (d) % 8,00,000
T

1 319, 2020 1 TH B A T 5,00,000 T BATeR TS | TeAgE l e0iigd qod
Tgfd GRT 5% S o <At & F TR AT | 31 W, 2022 h FeATeR T Yk oI T

ghm ?
(a) % 4,57,250 (b) % 4,51,250
(¢) ¥ 4,50,000 d) ¥ 4,51,000

1 31, 2019 w1 & feafies 3 wsh wefia T 8,00,000 ¥ @ | Ffvea ferea womeft gra
10% S o i g0 & Jodgm q9Tia foham o | 3t feq ww foafies = oft saft & ufr
T T 3t goagm 10% ufd o wedt 55 forea woreft & 3mem w yenfa feman
T | 31 A, 2021 1 e @ S w2 7

(a) ST AT ST TR ST e THM AT |

(b) T fafiee 6t wefed 61 gEaes go st fetfiee | 2 8,000 1feres B |
() it foafiree shi wefierd o1 qecreh gt Tm feafires @ T 8,000 37feres 2rm |
(d) it ferfires sht wefir o1 qecep oot T feafires & € 10,000 9 80 |

Y % 37T H YeASE WAl §¢ L TG AT & 36k AT i faf¥re @rd § T iy |
FrferRea o @ 38 @Td &1 AW §a

(a) 3= TUT T (b) T T Gl

() -7 @rar () et @
AL
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3. A machinery was purchased for T 8,00,000 on 1st October, 2021.
Depreciation was to be charged @ 10% p.a. by straight line method. What

will be the book value of machinery on 31st March, 2022 ? 1
(a) ¥ 7,60,000 ®) ¥ 7,20,000
(© ¥ 7,00,000 d) % 8,00,000

OR

A firm purchased furniture of ¥ 5,00,000 on 15t April, 2020. Depreciation
was to be charged @ 5% p.a. by ‘Written Down Value Method’. What will

be the book value of machinery on 31st March, 2022 ? 1
(a) T4,57,250 (b) T 4,51,250
© % 4,50,000 d) % 4,51,000

4. On 1st April, 2019 B Ltd. purchased machinery of ¥ 8,00,000. Depreciation
was to be charged @ 10% p.a. by Fixed Installment System. On the same
day, Ram Ltd. also purchased machinery of the same amount and charged
depreciation @ 10% p.a. by Reducing Installment System. On 31st March,
2021 which of the following statement holds true ? 1

(a) Book value of machinery of both the firms will be same.

(b) Book value of machinery of Ram Ltd. will be ¥ 8,000 more than B

Litd.

(¢) Book value of machinery in B Ltd. will be ¥ 8,000 more than Ram
Ltd.

(d) Book value of machinery in B Ltd. will be % 10,000 less than Ram
Ltd.

5. Depreciation Account is closed at the end of the year by transferring its
balance to the specific account. Which of the following is a name of this

Account ? 1
(a) Fixed Asset Account (b) General Reserve Account
(¢) Profit and Loss Account (d) Capital Account

OR
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ANHYA (A) : ECIRIA GoI UGHd o T8d GoasTd i T gL TS et et & |
SR (R) : STacifad qot ugia § Hufd 1 a8t goa i off s 1€t 8 |
(2) (A) 3R (R) SHT a1 E 3 (R), (A) F o =T |
(b) (A) 3R (R) gHI @&l &, oifehd (R), (A) 3l T e 81 7 |
(©) (A) "&E, foog (R) o7l € |
(d) (A)Terd 2, g (R) @1 2 |

SeomuHfoe R fem SR

(a) = < HTEAH ¥ foRT 7T YITAH 1 S o fg

(b) S ITE g B e T & foag

() UchE W&l I hi Sich TTHEh T U qoiT i FHIT F T Tl T h ferg
(d) UTH 5 3V AT B b oI

S FETg faaRu 7

(a) Tg-3T qoTrett o1 Ush wmT
(b) Tg—3Teh JUITCH! 1 Teh W &1
(c) Uehed 37eh JUTTCH! <h1 Ueh W

(d) Uhs & o Uehs Y T Teh T

Bl TS IS b FIAR ATy AT b A1 o THTEH et A foham S

2 I 9T 3 T Shared sfeh ITHEeh o ST 3 Bl |
HYAl : G e R S FHTeH feeror Fam foham S 2 |
(a) THFI A T E |
(b) CTHIFITTAR |
() HIABYT-[THIZ |
(d) P HAE-[TAF |
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Assertion (A) : Under written down value method, the amount of

depreciation decrease every year.

Reason (R) : In written down value method, the book value of asset will
never become zero. 1

(a) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(b) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(¢) (A) 1s correct but (R) is incorrect.

(d) (A) 1s incorrect but (R) 1s correct.

Bank Reconciliation Statement is prepared . 1
(a) to know the payment made through cheques.
(b) to know the errors in the Bank Pass Book.

(¢) to compare the cash book balance with Bank Pass Book balance and
ascertain the difference.

(d) to balance Pass book.
OR
Bank Reconciliation statement is : 1
(a) apart of Double Entry System
(b) not a part of Double Entry System
(¢) a part of Single Entry System
(d) a part of cash balances of the Cash Book

Statement-I : When Bank Reconciliation Statement is prepared with
overdraft Balance as per Pass Book, the Balance derived will be only
Balance as per Bank Pass Book.

Statement-II : Bank Reconciliation statement is prepared by Account

holder. 1
(a) Both the Statements are False. (b) Both the Statements are True.
(¢) Only Statement-I is true. (d) Only Statement-II is true.
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Teh ST 379 sieh Te/eiuT ITH hidT & S JHT9E 9 T 8,500 3feres 31efa 8 | 918 um
1 T3 2 2,000 % < TEGA & §U 3R T 1,500 % <X hise Tal §T | 37d: Ueh &l
I1Er rfufeerd g
(a) 5,000 (b) 8,000

(¢) 9,000 (d) 12,000

Tehg F&T T 1,000 37Tk 3TN 6 &9 H fe@rdl § | Sk forewor g9 8F W I8 9 = fh
CTERT § ¥ Th A @Wid ¥ T 400 1 fohU § 3TR WTd & T 20 S Yooh ofere fprmu o | S
W?ﬁ@m

(a) % 1,420 @) (b) % 620 (@)

(c) 4,300 (5H=1) (d) 1,700 (A™H)

AfRYT (A) ;oo o fomm o B =nfae |

RO (R)  : Tafma w1 g 3@ fafer o1 ffde e =nfee 5| as afyr &1 yram
e ST =fRw |

(a) (A) 3R (R) FT & & 3 (R), (A) A @i e 2 |

(b) (A) 3R (R) EHT =& & wifeb (R), (A) 1 T8t = e 2 |
© (AT, fog R) T T2 |

d) (A T@TEE, g R) T 7 |

fafr s ele H gl ea 3 | = A8 &
(a) 29% (b) 39

() 494 d) 798
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8. A business receives its bank statement showing the closing balance as

% 8,500 overdrawn. It is found that there were unpresented cheques of
% 2,000 and uncredited deposits of ¥ 1,500. Overdraft as per cash book will

be : 1
(a) 5,000 (b) T 8,000
(¢) T9,000 (d) T 12,000

9. Cash Book shows % 1,000 as overdrawn. When bank statement is received,
it was identified that one of debtors has deposited T 400 into the account
and bank charges of ¥ 20 had been debited to the account. Bank

Statement balance is 1
(a) 1,420 (Dr) (b) %620 (Dr)
(¢ ¥4,300 (Cr) (d) 1,700 (Dr)

10. Assertion (A) : A bill of exchange must be unconditional. 1

Reason (R) : A bill of exchange must specify the date by which the

amount should be paid.
(a) Both (A) and (R) are correct and (R) is the correct explanation of A.
(b) Both (A) and (R) correct but (R) is not the correct explanation of (A).
(¢) (A) 1s correct but (R) is incorrect.

(d) (A) 1s incorrect but (R) is correct.

11. A bill of exchange facilitates credit purchase. A bill of exchange has : 1
(a) two parties (b) three parties
(¢) four parties (d) seven parties
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i
1 S, 2022 1 33 7 4 T8N & T 2 10,000 1 foret T o S Tpam, foret afaererar
fafer <o <t gnft 2
(a) 3TE, 2022 (b) 41E, 2022
() 5 WS, 2022 d) 10TE, 2022

JYaT
1 313, 2021 ! TH 1 Higd I < 50,000 HT 9T =T | IE TG 1 Alg 4 TH g
ST feru 7T foret =1 3 W& o foT 2 50,000 h1 WhA o foTu wfiehr o6t foramm | faa artre
o foret 1 YA oL e I | Sk et O foe @b eielaa e | 7
() T (b) Hred
(¢ dh (d) SR

U1 R 61 fershl W B arelt 71t o fore @ Sfee T smar 2 ¢

(a) - @l (b) HRETA

(© TeIEE @ ) SR @
AYAT

SR GIAT AR T faspg aoei sl GO g |

(a) Tlig (b) feht

(© @heamEh (d) Ther o

Th HH &1 Hobed @Y T 4,00,000 o7 | FRTRT ITE 83T % 60,000 IR TOHA G
% 50,000 T | 3T IO BRTI

(a) g @™ 2,80,000 (b) g M 4,10,000

() Yg@m™5,10,000 (d) Ygwm™<R 1,00,000
FYE

%H T Hehed Y T 4,00,000 AT | T T & &6 H1 I[g A1 1 WA <1 HH HUT —

(a) 9T TR (b) TcIEH

(c) TH = d) wHTE
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On 1st January, 2022, Ishu issued a bill of ¥ 10,000 on Ram for 4 months.
What will be the maturity date of bill ?
(a) 3rd May, 2022 (b) 4tk May, 2022
(© 5% May, 2022 () 10t May, 2022
OR

On 1st April, 2021, Ram sold goods to Mohan for ¥ 50,000. On the same
date Mohan accepted a bill drawn upon him by Ram at 3 months for
% 50,000 on the due date, the bill was met. Who is the Drawer of the bill in
the above situation ?

(a) Ram (b) Mohan
(¢) Bank (d) Government

Loss on sale of an old car is debited to

(a) Profit & Loss Account (b) Car Account
(¢) Depreciation Account (d) Trading Account
OR
While preparing the ‘Trading Account’ return Inward is deducted from
(a) Purchases (b) Sales
(¢) Return outward (d) Gross profit

Gross Profit of a firm was T 4,00,000, rent received was ¥ 60,000 and,
repair expenses were 3 50,000. The final result will be :

(a) Net profit % 2,80,000 (b) Net profit % 4,10,000
(¢) Net profit % 5,10,000 (d) Net profit % 1,00,000
OR

Gross Profit of a firm was ¥ 4,00,000. Which of the following will reduce
the amount of Net Profit ?

(a) Rent received (b) Depreciation

(¢) Interest received (d) Discount received
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15. s @1 faewr sqagm < fodia feufa s ewifar 2 2

(a) AR Gl (b) ATH-FIH G

(c) qoH-w d) TAI
16. Tr=fafga o o fora fefa foemon 9 =t ewiln smar g 2

(a) 3Tk Wik (b) oifem &

(©) W (d) <R

17. &Y @ ‘et srfieral <t feafa | wamdt gra emy-gti <61 foremer dom 7@ fema St

=l

HYAIl : Tehed ek Tl Th Il Ty iR womeft B, S affeufeat % wry weerd
w2 |

(a) QI YT & | (b) THIHATHAF |

(c) HaABH-ITRE | (d) I B HE R |

18. J& ‘Al &1 faawor dOr fRan 1 @@ gutaEi o1 @ I T 6,00,000 AT, KO0

% 1,00,000 @, It =9 AR 5,00,000 % &9 H S ST |
(a) =M (b) ™
© (d) HER
FHeT
3TeR FohTE T 3 QIR HTAT T B
(a) & @ (b) T
(c) AT T Teraor (d) - @l
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Which statement shows financial positi.on of the business ? 1
(a) Trading Account (b) Profit and Loss Account

(c) Balance Sheet (d) Trial Balance

Which of the following is not shown in Balance Sheet ? 1
(a) Opening Stock (b) Closing Stock

(¢) Patents (d) Debtors

Statement-I : Statement of Profit and Loss is not prepared by owner in

case of ‘Incomplete Record’.

Statement-II : Single entry system is an incomplete double entry system

varying with circumstances. 1
(a) Both the statements are false. (b) Both the statements are true.
(¢) Only Statement-I is true (d) Only statement-II is true

While preparing ‘Statement of Affairs’ total of assets side was ¥ 6,00,000,
Loan % 1,00,000. Here the balancing figure of 5,00,000 will be known as

1
(a) Loss (b) Profit
(¢) Capital (d) Creditor
OR
From incomplete records, it is possible to prepare 1
(a) Ledger Accounts (b) Trial Balance
(¢) Statement of Affairs (d) Profit and Loss Account
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19.

20.

21.

22.

23.

135

[
5
H 3 % 5,00,000 Gt F FgEE IE THAT | 3| T 75,000 HT BTG qqT
% 1,75,000 %1 ghM GG | 9 2021-22 % QA 38 T 50,000 T o feam | 384
AT FEET IE B o oI fazmo o oft 7 30,000 @ T 511 fob wah & 3tferes fofia
Y & FoTT S| T oY TEH T FTeT HHT AT |

YT SIFeh R o 3TTUR 9 f=forfaga <6t o hifse

(a) T IATHTA I

(b) %ot Yol =
(c) b ITEARTA JRATT =

ST & 3T TTEal &5 o s fehegl e 37ali b1 Seoid Shifary |

weft @1 g’ o TR YeABTE I o Feheg! o ST 3hT Iooid ShifTy |

(a) 10 A€, 2022 %1, & 3@ I T 20,000 T 9T =T 3R F 4 @ W 3 7EH 1 forat
T 8 @ 1 L TR HTeh o ol a9 L e | o ariig v feret w1 e
TR TRIT | STIRE ST Sl % oh1 JEdeh] H STTEYaeh USTHTHE SISl Shife |

YT

(b) 20 3, 2022 BT T 7 Gt A T 25,000 T AT GiteT 3R aft 2 7 1
foret st fema | Forra faafr o’ foret &1 syram o6 feam o | SRRk o -t % fete
TSN 1 Jodeh] H TTa9Teh UsHTH=ET Tfafsat i |

(a) 31 T, 2022 &I 70T ! Uhs T T 7,800 T S AT fe@rdt & | Uehg T Y
qTEgs | gorl i W Fefefaa feemfaat o 8

(i) ¥ 3,000 1=k Seh H ST §IT Tl shise el g |
(ii) ¥ 1,500 T <k SR TR T wifert 37t b STaT o6 foTw e =1t fearn 7T |
(iii) ¥ 2,000 o SfHT FftRIT 61 PTaH b gRT foham 7 |
b YT o daR i |
Y
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i
Meera started business with capital of ¥ 5,00,000. She purchased
furniture of ¥ 75,000 and shop for ¥ 1,75,000, During the year 2021-22 she
paid salaries of ¥ 50,000. She also spent ¥ 30,000 on advertisement for
launching her business which is assumed to provide benefit to the
business for more than one financial year.

On the basis of above information, calculate the following :
(a) Total Revenue Expenditure

(b) Total Capital Expenditure

(¢) Total Deferred Revenue Expenditure

State any three points of difference between Capital Expenditure and
Revenue Expenditure.

State any three merits of ‘Straight Line Method’ of charging depreciation.

(a) On 10th March, 2022, A sold goods to B for ¥ 20,000. A drew on B a
bill at 3 months for ¥ 20,000 which B accepted immediately and
returned it to A. The bill was met on the due date. Give necessary
journal entries for the above transactions in the books of A.

OR

(b) On 20tk April, 2022 Rajesh purchased goods from Sunil of ¥ 25,000
and accepted a bill for two months. The bill was met on due date.

Pass necessary journal entries for the above transactions in the book
of Rajesh.

(a) On 31st March 2022, Cash Book of Naman showed a bank balance of
% 7,800. On comparing the Cash book with Pass Book the following
discrepancies were noted :

(1) Cheque deposited in bank but not credited ¥ 3,000.

(1) Cheque issued but not yet presented for payment ¥ 1,500.
(111) Insurance premium paid by the bank ¥ 2,000.

Prepare bank Reconciliation statement.

OR
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(b) 31.1.2022 I WK =T e FHTYM foawor TR HIRTT | 31.1.2022 1 IEEH &
IER I TR % 62,500 <t |
() WE T 4,000 T ek TR Toha1 8 e shiem | forarm 7= |
(ii) S H T 15,000 T ek YTAH fhT TAT AT oifch 38h! T Uehe ot | &1
HITE |
(iii) S 7 HHYH H I T T 55 foTT 3T T 50 1 =7 fea |

24. 1 9TE, 2022 %1% 30,000 < ToTC ShTe1 5 Hig § 3 WeH o fore wfishfa o <61 | e
7 39 WA B 10% Fid a9 i G eh g T 319 o & YA | Fra faf o Aig
JTETR T T YIAH fohAT | STUTH THCHT o TeTT FehT=T 3TR HIgH <hl J&ieh] H JTEwaeh
T St ifere |

95. SR WAl 3R ATH-gI+ AT o s 18 IR 37 <IfT |

26. T U FHN 1 3 ferie T8 TadT 2, 98 3AUeh! AHfeflgd SITHei ear 3

IRfYes G5t 3 1,00,000, faw @6ft T 1,25,000, 99 o SR 3TEWT % 30,000, 99
SR AT ISt TS 71§ % 37,500, 9 o TTQ SATH T BT hT T0MT AT |

27. 1 SFadl, 2018 1 Th HUH! 4 T 96,000 T YUY A T 3R 39 T2 W T 24,000
T o6 | goorsT@ X 10% 2 | 3 |Tet & fote wefiadt @rar o= hifste | @ 31 fegaw =61
s foRU ITd &, YearsrE wieft W fafer o e ox s T |
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5
(b) Prepare a Bank Reconciliation statement of Bharti as on 31.1.2022.
Balance as per Pass book as on 31.1.2022 was % 62,500.

(1) A cheque of % 4,000 issued to Rahim, was taken in the cash column.

(1) A cheque of T 15,000 was paid into bank but was omitted to be
entered in the Cash Book.

(111) The bank has charged ¥ 55 as its commission and has allowed
interest ¥ 50.

Prakash received from Mohan an acceptance for ¥ 30,000 on 1st July, 2022
at 3 month. Prakash got this acceptance discounted @ 10% p.a. from his
bank. On the due date Mohan paid the required amount. Give the

necessary Journal Entries for the above transactions in the books of
Prakash and Mohan.

Give four points of distinction between Trading Account and Profit and
Loss Account.

Mayank does not keep proper records of his business. He gives you the
following information :

Opening Capital ¥ 1,00,000, Closing Capital ¥ 1,25,000, Drawings made
during the year ¥ 30,000, Additional Capital introduced during the year
T 37,500.

Calculate profit and loss for the year.

On 1st January, 2018, a company purchased a second-hand machinery for
T 96,000 and spent ¥ 24,000 on its erection. Prepare the Machinery
Account for three years. The rate of depreciation is 10%. The accounts are

closed on 315t December. Depreciation was charged on the basis of
‘Straight Line Method’.
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e gar T HRITR Tl T 2 a0 301 T 2wk HY. i feeeht st o § @rar @ |
3GehT G WY Uh TEH 61 P& T Fel T 3R I 98 198 371 a1 36 I <6l 31
3T, 2022 %1 kS ] sich Y YEgeh Y & &1 e @I | W A FeAfctiad feigati s
AT ST FoTeeh ST ST J&ehi < 319 el el 8 & :

(i) % 500 1Ak s T ST Foram 7T, fopeg Tebg o1 0 18 wfarf T i 8 |

(ii) ¥ 1,200 1=k ITH L TS et H UfafS sht foheg ook T =ieh & Wl T |

(iii) TehE &I & Seh hIcTH T shiS U1 1 I T 200 HH Tehar 7T |
(iv) Trf TeTe o d&d sieh gl T s Siftrm € 600 w1 grrar R T |

(v) % e T 20 T Uhs &l H g IR €31 {ohaT 71T |

SR ShicUi-eh e el ¥ famfeifad g o1 Sar i

(a) The TE 3 TEgH 9 h ST F TR T HRU THA 2 T GRT IR FohT 14 =y
foraor &1 i |

(b) fe fIawer TR & o foT I3 9 Uehg §& 1 2 1 A9 TG (1) I Y &A
AT ?

() afe foaer dam s % foru yeaTdt A9 S Trsh 1 ] A1 I TS (1i) T HH TA

AT 7
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i
Sudhir was running the business of medicine and was having bank
account with HDFC, Delhi branch. His accountant Ramesh went on leave
for a month and when he came back he found that cash book balance was
not tallying with pass book balance as on 31st August, 2022. Ramesh

found out the following points due to which balances of both the books did
not tally : 6

(1) Cheque deposited into the Bank, but no entry was passed in the
Cash Book ¥ 500.

(1) Cheque received and entered in the Cash Book but not sent to Bank
% 1,200.

(111) Credit side of the Cash Book bank column was cast short by I 200.

(1v) Insurance Premium paid directly by the bank under the standing

advice ¥ 600.
(v) Bank charges % 20 were entered twice in the Cash Book.
From the above hypothetical case study, answer the following questions :

(a) Name the statement to be prepared by Ramesh for finding out the
reasons of the above difference between Cash Book and Pass Book

balances.

(b) If balance as per Cash Book is starting balance for preparing the

statement then how will you treat item (i) ?

(¢) If balance as per bank Pass Book is starting balance for preparing

the statement then how will you treat item (i1) ?
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29.
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(d) fe foremor AR T & foTu JE=ATC 3N Tehe o1&t o1 7 A1 31T g (1ii) T Hd &A
HAl ?

(e) 3fE Trawor IR i o foTQ 3Tt I Sk TTEEeh 1 & 1 3719 Ug (iv) 1 HH B
Hal 7

(O A forawr dam s o fIg YEAT 2AY Ths SEl AY & Al 3T 7g (v) 1 HE &A
HAT 7

(a) 31-3-2020 H 31-3-2021 Tk T TTSH T edfd-Toew ffiRad 2 | 97 3rquf
OIS H 370 WA d9R T & | 384 2020-2021 % TRE % 10,000 aih ISi
% 9 H o fRAT 3R 3199 ARG ITF 6 T T 3,000 Jid 718 T AT
foRam | 31 AT, 2021 W1 A <Y AT TR ITHT AT FTd HIT |

- 31-3-20 | 31-3-21
®) ®)
The 1,000 900
fafaea ger 39,000 | 45,000
TEN (F2ih) 34,000 | 32,000
LRERCEENIE 60,000 | 80,000
fafae oFer 15,000 | 14,900
< foe - 50,000
JA¥aT

(b) Tehel TTATE JUTTCA! o ATH] ohT U SHITST |
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(d) If balance as per Cash Book is starting balance for preparing the

(e)

(®)

(a)

(b)

statement then how will you treat item (ii1) ?

If balance as per bank Pass Book is starting balance for preparing

the statement then how will you treat item (iv) ?

If balance as per Cash Book is staring balance for preparing the

statement then how will you treat item (v) ?

Following is the position statement of Ramaji as on 31-3-2020 and

31.3.2021. He maintains incomplete accounts. During 2020-2021, he

itroduced ¥ 10,000 as additional capital. He withdrew ¥ 3,000 every

month for his personal use. Ascertain his profit for the year ended

31st March, 2021.

Describe the advantages of single entry system.

31-3-20 | 31-3-21
Particular
® ®
Cash 1,000 900
Sundry Debtors 39,000 45,000
Stock 34,000 | 32,000
Plant and Machinery 60,000 80,000
Sundry Creditors 15,000 14,900
Bills Payable - 50,000
OR
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135

o0

i ;

T Tt ?) Toraur ¥ )
A9 : ST 9
ST 15,000 | sft 2,50,000
TR Tih 50,000 | =Tst 6,000
i 3R wed 1,00,000 | fafaer oFer 70,000
Thg 16,000 | feshi 1,70,000
Ll 30,000 | < foret 40,000
EGES 20,000
JATET (TEM) 20,000
wliq 1,00,000
EARIKERCE] 25,000
T foe 20,000
A 2,000
ECRER 5,000
O 1,15,000
T 10,000
TRt 8,000

5,36,000 5,36,000

3= ek T JeA1eh 3 1,00,000 FehdT 71T |
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30. From the following Trial Balance, prepare Trading and Profit and Loss

135

Accounts for the year ended 31-3-2021 :

Particulars Amount Particulars Amount
) )
Debt Balance : Credit Balance :
Sundry Debtors 15,000 | Capital 2,50,000
Opening Stock 50,000 | Interest 6,000
Land and Building 1,00,000 | Sundry Creditors 70,000
Cash in hand 16,000 | Sales 1,70,000
Wages 30,000 | Bill payable 40,000
Salaries 20,000
Drawings 20,000
Purchase 1,00,000
Office expenses 25,000
Bills receivable 20,000
Interest 2,000
Bad debts 5,000
Repairs 1,15,000
Depreciation 10,000
Rent 8,000
5,36,000 5,36,000

The closing stock was valued at T 1,00,000.
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